Bihar Mathematical Society
TSTM (Olympiad) 2021 (Class-07)
Full Marks:- 100 Time: 2% Hours
Answer all questions. All questions carry equal marks.

4.

10.

Find the greatest number of four digits which is divisible by 15, 20, 25, and 45.

15, 20, 25, TAT 45 ¥ PRI B aTell IR il @1 T g1 A Hared |

The cost of painting an equilateral triangle of side 42 cm. is Rs. 764. Find the cost of painting the
circle circumscribing the triangle.

42 HoHlo BT YT daTel TP FHATE ST I I TRA $T G 764 IYY B, AT SHD URIA BT I T & @A
fArepTed |

If x+y+z = m, then prove that the sum of the cotangents of

N R

%g is equal to the product of

their cotangents.
A x+y+z =n @ Gfed & B %,%,% P PSR & AN BT A4 STd 2 difewIsad @
TGS & TR & |

The sides of a parallelogram are 3x + 2 and 5x + 4. It has a perimeter of 44 cm and an area of 64
cm?. Then prove that the value of the acute angle between its sides in degrees is between 30 and 60.
Bl AR TSt & g 3x + 2 @1 5x + 4 & | IHS! uRMAT 44 JoHlo TAT &FB 64 T JHoHlo T |
a1 e B 5 ST qorett @ 9 a9 == BIvr b1 A9 B H 30 q2T 60 B I BN
Determine the integer n for which n? + 19n + 92 is a perfect square.
qufes n &1 79 farel Sad o n? + 19n + 92 va oof af 7 |
In an examination, a candidate attempts 90% of the total questions. Out of these 70% of his answers
are correct. Each question carries 3 marks for the correct answer and —1 mark for the wrong answer.
If the marks secured by the candidate is 243, what is the total number of questions ?
T TR H U IFEAR @ol TRl &1 90% ATt wRar ® R 8 70% SR w8 €| 9E S @ for 3 3f
AT Tefd IR & o —1 s € | Afe SRNGaR gRT U 3ih 243 & 1 ULl &1 Gl AT AT 87
In a flight of 2800 km, an aircraft was slowed down due to bad weather. Its average speed for the
trip was reduced by 100 km/hour and time increased by 30 minutes. Find the original duration of

flight.
2800 fho Ho &1 ToM # Teh o0 W9 AH & BROT G99 8 TAT| I & ford g9 d Ty 100
fhotlo /G0 HH HR & T 3R 9T 30 A dar faam M7 | SSM &I Hof fafy &1 79 e |

Let ABC be a triangle and D be the mid-point of BC. Suppose that the angle bisector of ZADC is
tangent to the circumcircle of triangle ABD at D. Prove that ZADC= 90°.

#rferar ABC wa Brgst © e BC &1 #ea fag D | afe £ADCe1 wafgarsiad Bryst ABD & uRqd & fawg
D R TR ® o Arfad & f6 2ADC= 90°.

Find the remainder when x2°1* is divided by x? + 5x + 6.

x201% @y x2 + 5x + 69 WFT o4 R AY BT A Tbred |

Find the unit’s digit in the expression 515% + 525%,

i 515% + 525704 gabt$ @ af &1 AF Firel |




